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1. Study the handout on the properties of quadrilaterals and triangles.
2. Given that a rectangle has opposite sides congruent and has 4 right angles, prove
the following shape is a rec’rongle
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3. Find the mldpomi of 1he pom’rs : : ,
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4. Find the coordinates of the other endpoint of a segment with. an endpoint of (-1.5)

and a midpoint(2,-3). 5___‘[ o -3
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5. Find the coordinates of both of the endpoints o[ a seg)mem‘ with a midpoint of
{8, 13.5) and an endpoint at (2x + 4, 5y - 3} =¥ (12,12 24X _g "ﬁ-t" 13.§
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6. Justin and Au;ﬁn decide to play catch after school. They start at the same point.
Justin walks 50 feet north and 20 feet west. Austin walks 40 feet south and 10 feet
east. How far apart are they? (~t0,50 dl") Yo)
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7. Determine whether Point A lies on the circle whose
center is Point C and which contains the Point P(0, 4).
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Justify your answer algebraically showing work. 2 ™
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8. Determine if each of the following lines are parallel, perpendicular, or neither. 597 (oX
= J‘zx +2 N= - 1% +5
y =4x-1 X+2y=4 2x+y=35
a. - =Yy - b.
8x+2y=-6 Y" 4x -3 éx-3y=12 “ 10x+5y = 5
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-4 9 Find the quoc,aon of the line b&ween thenaints [-1. 4) and (3,12).
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10.Find the GQLLONOFI of the line that is paraliel to y = 2x + 8 that passes through {-4, 1).
1= 2(-L) * =2k +13)
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11.Find the equation of the line that is perpendlcular toy = 3x + 1 that passes through

9.2, =3 b [y-

For Question 11-13, refer to ihe graph belt;&v ( 03 B 3)
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12. Flnd a point P on the segment AB that partitions it in Aég*‘ 5 )
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13. Finda ponni Q on the segment BC that partitions itin -1
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14. Connect the three points. Is this a right triangle2 (**Hint: Find the slopes**)
M= -3, =L R Nﬂ“' o~ m‘gh'(' -l—na.«jle
15. Use the following figures to answer the questions.
a. Find the perimeter. b. Find the area.
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